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1 Grover’s algorithm on a three bit database

Consider an unstructured search of a three bit database. Suppose that the marked item is
located at z = 7.

a) Evaluate the state of the three qubit system after a single application of G. With what
probability will a computational basis measurement reveal the marked item’s location?

b) Evaluate the state of the three qubit system after two applications of G. With what
probability will a computational basis measurement reveal the marked item’s location?

c) Evaluate the state of the three qubit system after three applications of G. With what
probability will a computational basis measurement reveal the marked item’s location?
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